C:h Two Step Problems Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

A company was offering a special on cell phones for $4 each. But only if
you spent 2 dollars a month for 7 months. How much would it end up
costing you total if you bought 1 phone?

It takes 8 ounces of cheese to make a burrito and 3 ounces for ataco. If
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need?

A florist needed to use 3 pounds of fertilizer for 2 days and then on the
final day use the normal amount plus another 7 pounds. How many
pounds of fertilizer will she use all together?

Sarah bought an app that cost $5 dollars. Then each month you have to
pay $4 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

A music teacher had 7 recorders, but she decided to buy 8 more boxes
with each box having 4 recordersin it. How many recorders did she have
after buying the 8 boxes?

While playing a game Adam defeated 3 enemies. Each enemy earned him
4 points. Then he got another 2 points for completing the level. How
many points did he earn total ?

Kaleb earned 9 dollars for every lawn he mowed. If he mowed 8 lawns
and he already had 7 dollars saved up, how much money does he have
total?

A baker made 2 batches of chocolate chip cookies. Each batch had 8
cookiesin it. Then he made an additional 7 oatmeal cookiesjust in case
someone didn't want chocolate chip. How many cookies did he bake
total ?

At band practice there were 6 rows of students with 2 studentsin each
row and then another 3 students in the back. How many students were
there total ?

At the arcade Carol had 9 tickets she saved from the last time she went.
Thistime she played a game 7 times and earned 8 tickets each time she
played. How many tickets does she have now?

10.

Answers

C
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ﬂh Two Step Problems Name. Answer Key

Solve each problem. Answers

1) A company was offering a special on cell phones for $4 each. But only if 2x7=14
you spent 2 dollars a month for 7 months. How much would it end up 14+4=18 1 18
costing you total if you bought 1 phone?

2. 43
2) It takes 8 ounces of cheese to make a burrito and 3 ounces for ataco. If 5x8=40
you wanted 5 burritos and 1 taco how many ounces of cheese would you 40+3=43 3. 13
need?
4 37

3) A florist needed to use 3 pounds of fertilizer for 2 daysand thenonthe  3x2=6
final day use the normal amount plus another 7 pounds. How many 6+7=13 3. 39
pounds of fertilizer will she use all together?

6. 14

4) Sarah bought an app that cost $5 dollars. Then each month you haveto ~ 4x8=32
pay $4 to play online. If she played the game online for 8 months, how  32+5=37 7. 79
much money would she have spent total for the app and the online access?

8. 23

5) A music teacher had 7 recorders, but she decided to buy 8 more boxes 8x4=32
with each box having 4 recordersin it. How many recorders did she have 32+7=39 S 15
after buying the 8 boxes?

10, 65

6) While playing agame Adam defeated 3 enemies. Each enemy earned him  3x4=12
4 points. Then he got another 2 points for completing the level. How 12+2=14
many points did he earn total ?

7) Kaleb earned 9 dollars for every lawn he mowed. If he mowed 8 lawns ~ 8x9=72
and he already had 7 dollars saved up, how much money doeshehave  72+7=79
total?

8) A baker made 2 batches of chocolate chip cookies. Each batch had 8 2x8=16
cookiesin it. Then he made an additional 7 oatmeal cookiesjustincase 16+7=23
someone didn't want chocolate chip. How many cookies did he bake
total ?

9) At band practice there were 6 rows of students with 2 studentsin each 6x2=12
row and then another 3 studentsin the back. How many students were 12+3=15
there total ?

10) At the arcade Carol had 9 tickets she saved from the last time shewent.  7x8=56
Thistime she played agame 7 times and earned 8 ticketseachtimeshe  56+9=65
played. How many tickets does she have now?
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C:h Two Step Problems Name:

Solve each problem. Answers
13 39 14 23 43
37 79 18 1

1) A company was offering a special on cell phones for $4 each. But only if

) 2.
you spent 2 dollars a month for 7 months. How much would it end up
costing you total if you bought 1 phone?
3.
2) It takes 8 ounces of cheese to make a burrito and 3 ounces for ataco. If 4
you wanted 5 burritos and 1 taco how many ounces of cheese would you
need? 5.
6.

3) A florist needed to use 3 pounds of fertilizer for 2 days and then on the
final day use the normal amount plus another 7 pounds. How many 7
pounds of fertilizer will she use all together?

4) Sarah bought an app that cost $5 dollars. Then each month you have to
pay $4 to play online. If she played the game online for 8 months, how
much money would she have spent total for the app and the online access?

5) A music teacher had 7 recorders, but she decided to buy 8 more boxes
with each box having 4 recordersin it. How many recorders did she have
after buying the 8 boxes?

6) While playing agame Adam defeated 3 enemies. Each enemy earned him
4 points. Then he got another 2 points for completing the level. How
many points did he earn total?

7) Kaleb earned 9 dollars for every lawn he mowed. If he mowed 8 lawns
and he already had 7 dollars saved up, how much money does he have
total?

8) A baker made 2 batches of chocolate chip cookies. Each batch had 8
cookiesin it. Then he made an additional 7 oatmeal cookiesjust in case
someone didn't want chocolate chip. How many cookies did he bake
total?
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